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Question Number : 1 Question Id : 8657993061 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Principle of development of Proximo-Distal tendency indicates that

development will occur
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Question Number : 2 Question Id : 8657993062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement
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Options :
Growth and development bring about change in behaviour
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Growth and development are brought about by maturation and learning
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Growth and development are pr@ducts of heredity and environment
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Growth and development both cease after certain age
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Question Number : 3 Question Id : 8657993063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Three year old Snigdha was pulling out all toys from the shelves in a shop. Her
father warned her that if the toys get damaged they have to pay for them.
Snigdha did not seem to understand what her father was saying and continued
to pull out toys. This 15 an example of this characteristic of mental development
during her age
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Question Number : 4 Question Id : 8657993064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Knowledge of this will help the teachers in setting the minds and attitudes of
students for making desirable attempts towards relevant tasks expected at their
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Question Number : 5 Question Id : 8657993065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Erikson's Psycho-Social Development Stage that corresponds to adolescence
stage
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Question Number : 6 Question Id : 8657993066 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Niranjan's mother gave him a round ball of play dough. He asked his mother for
more play dough. His mother took the ball of play dough and rolled it into
elongated shape. Niranjan happily took 1t and started playing. According to
Piaget, Niranjan's cognitive development stage is
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Question Number : 7 Question Id : 8657993067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following correctly represents the ‘distribution of intelligence’?
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Question Number : 8 Question Id : 8657993068 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hrithik helps his father in their family business. Due to the success in business,
he always projects himself as a confident and capable person. Suddenly due to
some mistakes in his assessment. they have incurred huge loss. Hrithik felt that
he is responsible for the loss and now feels may be he is not as competent as he
was thinking about himself. The change that Hritik perceives relates to his
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Question Number : 9 Question Id : 8657993069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chinmayee 15 the wife of a popular leader. She always tries to showcase that she
13 a very good follower of her husband's ideology. The defense mechanism used

by Chinmayee 1s
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Question Number : 10 Question Id : 8657993070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Viyaan 1z a Seven year old boy studying in Grade 2. His performance m school 1s
above average. He 1s friendly with all the classmates and plays with everyone.
One big problem that his mother 1s facing 1s that even after four years of going
to school and trying out many ways every day morning he cries badly saying

that he doesn’t want to go to school. She went to a psychologist for help. The

appropriate method for finding a solution 1s
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Question Number : 11 Question Id : 8657993071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following 1s NOT a benefit of ensuring ‘equity’ in classroom
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Creates rivalry among the students
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Question Number : 12 Question Id : 8657993072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement relating to Annual Plan among the
following
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Options :
Annual Plan should be ready by the beginning of the academic year
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Annual Plan includes major curricular and co-curricular activities to be
performed during the academic year
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Annual Plan serves as guideline in preparing weekly and daily plans
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Annual Plan does not contain time allotted for different units
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Question Number : 13 Question Id : 8657993073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For which of the following activity based learning is more suitable
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Memorise a poem
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Question Number : 14 Question Id : 8657993074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Rights of Persons with Disabilities (RPwD) Act. 2016 provides that the
appropriate Government shall provide books, other learning materials and
appropriate assistive devices to students with benchmark disabilities free of cost

up to the age
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Question Number : 15 Question Id : 8657993075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
National Curriculum Framework, 2005 has recommended for multimedia and
ICT as sources for
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Question Number : 16 Question Id : 8657993076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is NOT an acceptable technique of classroom management
S31E 118 G;Frnd” & Gobd TES° w58 eTrSERNDS 58 5%
Options :
Enable learners to take responsibility of their behaviour
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Question Number : 17 Question Id : 8657993077 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per Section 2 (a) of the Prohibition of Child Marriage Act, 2006, a ‘child’ if a

male means a person who has not completed the age of
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Question Number : 18 Question Id : 8657993078 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A school has started using a mobile app to provide individualised activities to
the learners. This 1s using ICT
2.8 ardtre, ogrmHos 508 S1Emod 0obodtrls TwEd dirad axdrAoddo

& ICTR mer &dimRodido

CE'

@rSoflotiod. &

Options :

for vocational purpose

i

H385850% pEresdo 8550
1. %

as an object of study

3.\“-"""'



Question Number : 19 Question Id : 8657993079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vijay who hails from a rural background got admission in one of the premier
institutes n a city. He became a target for ragging and got affected
psychologically. He approached a counselor who took all details, analysed the
problem and gave a plan of action to be followed by Vijay with instruction to
keep him updated. This type of counseling 1s
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Question Number : 20 Question Id : 8657993080 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following can be viewed as a disadvantage of discovery
learning advocated by Bruner?
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Need for specialized materials
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Question Number : 21 Question Id : 8657993081 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Shourya 1s a six year old boy who was joined into a summer camp by his parents
with the only purpose of day care as both of them are working. Shourva
participated in many activities during the camp. At the end of the camp. his
parents realized that he has not learnt any specific skill. This 13 because

Shourya did not have any
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Question Number : 22 Question Id : 8657993082 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Provision for proper rest and recreation for the learner comes under this factor

that influences learning
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Question Number : 23 Question Id : 8657993083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vikas went to a new building and entered the hift. After reaching the top floor.
the lift door did not open. Out of panic. Vikas hit the walls of the lift. shouted
for help and pressed all the buttons randomly and when one of the buttons was
pressed the door opened. The behawviour of Vikas can be explained as an act of
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Question Number : 24 Question Id : 8657993084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Learning to react to only a single specific stimulus out of multiple stimuli 1s
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Question Number : 25 Question Id : 8657993085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Aparna booked flight tickets to go to a particular place to learn yoga but before
golng she came to know a better place for learning yoga and wanted to change
her booking. She called the airline that provided automated service that

prompted her through various options and finally completed the task. This 1s an

example for
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Question Number : 26 Question Id : 8657993086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Bandura’s Social learning theory. a person’s belief in his or her ability to

succeed 1n a particular situation is termed as

-
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Question Number : 27 Question Id : 8657993087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher has selected four activities — dance, drama. quiz and athletics and
told her students that all of them should participate in at least one of the four
activities. The activity that relates more to the cognitive domam among the
four 1s
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Question Number : 28 Question Id : 8657993088 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following does NOT help in arousal and sustenance of motivation
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Options :
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Question Number : 29 Question Id : 8657993089 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vasu learnt to make type *A° biryani recipe from his mother and later type ‘B’

biryani recipe from his aunt. Later, when he wanted to make type ‘A’ biryani he

got confused with type ‘B’
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Question Number : 30 Question Id : 8657993090 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following DOES NOT help for maximum transfer of learning
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Options :
Rote learning
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Question Id : 8657993091 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Question Number : 31 Question Id : 8657993092 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8657993093 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8657993094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8657993095 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
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Question Shuffling Allowed : Yes



Question Id : 8657993096 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 8657993097 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8657993098 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8657993099 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Id : 865799158
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 8657993101 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8657993102 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 8657993103 Question Type

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8657993104 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 8657993105 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8657993106 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 8657993107 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 8657993108 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8657993109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8657993110 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 8657993112 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8657993113 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8657993114 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8657993115 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8657993116 Question Type : MCQ Option Shuffling : Yes

Display Question Number

: Yes

Correct Marks : 1 Wrong Marks : 0

iz b e S B o
o) B5° s rehoree

Options :

eI Hgrso
-]

1.

SDHTPe TraTr 06
2. %

s Eol TR E
3, % '

Jerd SFST-
4. %

b Siito 3 Edden TrHN )7

Question Number : 55 Question Id : 8657993117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8657993118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8657993119 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8657993121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Section Id :

Section Number :

Section type :
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Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
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Sub-Section Id :

Question Shuffling Allowed :
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Question Id : 8657993123 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

Artificial intelligence (AI) could play a vital role in mental healthcare, by
helping healthcare providers offer support to individuals suffering from
psychological ailments through Al-powered chatbots. Al-driven avatars can act
as informative companions. helping patients better understand their symptoms.
treatment options, and the overall mental health journey. it was stated. These
digital assistants provide immediate and private support. making mental health
information more accessible and convenient. Experts cautioned that human
supervision remained essential when using Al in mental healtheare. According
to an IT professional, the integration of Al and virtual reality (VR) into mental
healthcare holds considerable promise for 1mproving accessibility,

personalisation, and the effectiveness of treatment.

Sub questions

Question Number : 61 Question Id : 8657993124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage. Al-powered chatbots primarily contribute to mental

healtheare by

Options :

diagnosing patients without human intervention

1.

replacing therapists in long-term treatment
2. %

offering support to individuals with pasvchological issues
3.9

prescribing medication based on symptoms
4. %



Question Number : 62 Question Id : 8657993125 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Al-driven digital assistants make mental health mnformation more
Options :
expensive.

1. ®

accessible and convenient.

2.9

human-driven.
3.

traditional.
4. %

Question Number : 63 Question Id : 8657993126 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The two main roles that the Al avatars play in mental healthcare are

Options :

diagnosatic agents and administrative schedulers
1. ®

emotional companions and finanecial consultants

mnformative companions and therapeutic tools
3. %

mformative companions and symptom analyzers
4. ¢

Question Number : 64 Question Id : 8657993127 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage, the key limitation of Al in mental healthcare

highlighted by experts is the



Options :

mmadequate technological infrastructure.
1. %

lack of emotional intelligence in avatars.
2. %

absence of legal regulations.
3. %

necessity of human supervision.
4.¢

Question Number : 65 Question Id : 8657993128 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The integration of Al and VR in mental healthcare is to

Options :

1solate patients from traditional therapy

1.

reduce dependence on medical devices
2. %

enhance the effectiveness of treatment
3. ¢

eliminate the need for personalisation in therapy
4. %
Sub-Section Number : 2
Sub-Section Id : 865799160

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 8657993129 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A) To be sure, she checked with her ticket twice before boarding the
compartment.
Finally, she waved goodbye to her family.

C) She got surprised to see that the platform was crowded with passengers.
) Samhitha reached the station in time.

Then. she boarded her compartment with excitement.
Options :
BCAEDB

1.

5 % C.D,E, A B

D.E.C.A.B
3. %

E.CDAB



Question Number : 67 Question Id : 8657993130 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This 15 dress in this shop.

Identify the suitable option to complete the sentence.
Options :

the prettiest
1. ¢

the prettyest

2. %

the more prettiest
3. %

the prettier
4. %

Question Number : 68 Question Id : 8657993131 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

We need for the top of the Christmas tree.

Identify the suitable option to complete the sentence.
Options :

an star

the star
2. %

a star
3.

atar



Question Number : 69 Question Id : 8657993132 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He tackled the problem in a typically manner.

Choose the correctly spelt word.

Options :
haphazerd

1. %

) % haphezard

haphazard
3.¢

hephezard
4. %

Question Number : 70 Question Id : 8657993133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word “apostle™.

Options :

L.v ©
2% F
3.% °

1



Question Number : 71 Question Id : 8657993134 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chooze the appropriate sentence formed with the following jumbled words /
phrases.

i

that bov /I do not/deal with / can / I / know /how
Options :

” I do not know how I can deal with that boy.
1.

I do not know how can I deal with that boy.

2.

How I can deal with that boy and I do not know
3. %

I do not know how with that boy I can deal.
4. %

Question Number : 72 Question Id : 8657993135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He always late for class and annoys the teacher,

Choose the correct option to complete the sentence.
Options :
talkes after

1. %

turns down
2. %

turns u
3. P

turns out
4. %



Question Number : 73 Question Id : 8657993136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

They fired  at random killing a lot of mnocent child.
A B C D
Options :

1.v 3




Question Number : 74 Question Id : 8657993137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

She said. “I don't know whether I'll be able to attend the meeting next week or

not.”

Choose the appropriate reported sentence.

Options :
She said that she didn't know whether she will be able to attend the

meeting next week.

She said that she didn’'t know whether she would be able to attend the
meeting the following week or not.

2.9
She said that she doesn't know whether she will be able to attend the

meeting next week or not.

She said she didn't know whether she can attend the meeting next week or

not.
4.%



Question Number : 75 Question Id : 8657993138 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He's not here vet, ?
Choose the correct option.
Options :

18 he

1en't he
2. %

hasn’'t he

has he
4. %

Question Number : 76 Question Id : 8657993139 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option where all the words belong to the same part of speech.

Options :

swiftly, carefully, loudly
1.

honest. kindness. bravery
2. %

on, and, across

he, we, quickly
4. %



Question Number : 77 Question Id : 8657993140 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bv the time she arrived, we dinner and ready to leave.
Choose the appropriate option to complete the given sentence.
Options :

finish. were
1. %

had finished, were
2.9

3 % are finishing, had

had finished, are
4. %

Question Number : 78 Question Id : 8657993141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
She called his bluff during the meeting.
The meaning of the sentence 1s:
Options :
She encouraged him to speak louder during the meeting.

1. %

She exposed that he was not being truthful during the meeting.
2.9

She helped him win an argument during the meeting.

She misunderstood his intentions during the meeting.
4. %



Question Number : 79 Question Id : 8657993142 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

My brother, which lives in Delhi, is an architect.

1. %

: MCQ Option Shuffling : Yes

The book. whom I borrowed from you. is fascinating.

2. %

The students who arrived late were not allowed 1n.

3.¢

Mr. Smith. whom dog won a prize. is our neighbour.

4. %

Question Number : 80 Question Id : 8657993143 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

She looked at him as though

Choose the correct option to complete the sentence.

Options :

she is hating him

1. %

she will hate him
2. %

she hates him
3. %

she hated him
4.



Question Number : 81 Question Id : 8657993144 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

The manager was furious the emplovee’'s careless attitude.

Chooze the correct option.
Options :

off
1. %

between
2. %

with
3.¢

n

Question Number : 82 Question Id : 8657993145 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the grammatically correct sentence.
Options :
I look forward to meet you tomorrow.

1. %

I am looking forward for meeting you.
2. %

I am looking forward to meeting you.
3.¢

I look forward to meeting for you.
4. %

: MCQ Option Shuffling : Yes



Question Number : 83 Question Id : 8657993146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
They made him captain.
Choose the correct passive form.
Options :
He was made captain by them.

1.

He 1s made captain by them.

2. %

; He was made as eaptain by them.
Captain was made him by them.

4. :

Question Number : 84 Question Id : 8657993147 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was tired. He completed the assignment.

Choose the correct option to combine the two sentences together.

Options :

Because of he was tired. he completed the assigonment.
1. %

He was tired; therefore. he completed the assignment.
2. %

Though he completed the assignment. but he was tired.
3. %

He was tired. but he completed the assignment.
4.



Question Number : 85 Question Id : 8657993148 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the demerit of the Audio-Lingual Method.
Options :

Communicative competence 1s given due 1mportance.

The four basic skills are not given equal importance.
2.9

Prioritizes speaking and listening skills.
3. %

Meaning is given more importance than form.
4. %



Question Number : 86 Question Id : 8657993149 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements.

Statement A: Language acquisition iz facilitated by learning linguistic
facts such as vocabulary, structures in isolation.

Statement B: Language acquisition is facilitated through the clustering of
linguistic facts such as vocabulary, structures in meaningful
discourses.

Choose the correct answer.
Options :

Only the Statement A 1= correct.
1. %

Only the Statement B 1z correct.
2.

Both the Statements A and B are correct.
3. %

Both the Statements A and B are incorrect.
4. %



Question Number : 87 Question Id : 8657993150 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the feature of the discourse ‘Essay.’
Options :
Dialogues apt to the context

1. %

Maintaining brevity and rhythm
2. %

Following the conventions of the stage
3. %

Appropriate paragraphing with main ideas

@i‘

Question Number : 88 Question Id : 8657993151 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This 18 NOT a feature of discourse oriented pedagogy.
Options :

It can be adapted to suit any level of learners.
1. %

It proceeds from whole to part.
2. %

It focuses on product but not on the process.
3.¢

It takes care of skill development.



Question Number : 89 Question Id : 8657993152 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Academic reading is generally considered a form of
Options :

extenaive reading.
1. ®

Intensive reading.
2.9

pleasure reading.
3. %

entertainment reading.
4. %

Question Number : 90 Question Id : 8657993153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following 1s a tool used in English formative assessment under CCE in the
secondary level of Telangana State Board.
Options :

(Generating questions
1. %

Reflections on contemporary lssues

Read and reflect
3.

Lab records
4.%

Social Studies
Section Id : 86579998
Section Number : 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 865799161
Question Shuffling Allowed : Yes
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Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement regarding the Indian Islands from among
the following

80 TEE° PEEHE HYen Sonohod) S0P VS0 HBoHos

Options :
Narkondam and Barren Islands are of Volcanic Origin
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The total Geographical area of Lal{shadweel) Islands 1s 32 Sq.Kms
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2. %
The Lakshadweep 1slands are famous for a great variety of flora and fauna
e5t:s B 5505w 88, 28 modsrded 2878 oo
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The southernmost tip of India is found in Lakshadweep Island
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At this place, the river Ganga which emerges from the mountains reaches on to
the Plains
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Options :

Alakananda
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Allahabad
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Haridwar
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Towards the end of the summer season. these help in the early ripening
of mangoes and other plantation crops in Peninsular India
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Trade Winds
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pre-monsoon showers
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Infant mortality rate (IMR) refers to

3% Sere i (IMR) @0

Options :

3. %

the number of infant deaths. below the age of one year per 1.000 live births

mn a specific population and time periﬂd
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the number of infant deaths. below the age of one year per 100 live births
n a specific population and time period
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the number of deaths, below the age of five years per 100 live births in a

specific population and time period
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The number of deaths, below the age of two years per 1000 live births in a
specific population and time period
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This country in Africa is often referred to as the “Land of Copper”
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Among the following, the layer that forms nearly 83% of the volume of the earth

Options :
Continental Crust
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QOceanic Crust

Core
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The Sarees made at this place are of unique design and colour which 1s quite

distinct from other silk sarees. So. 1t 1s the first handloom cloth patented in India
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Options :

Pochampally Sarees
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Among the following Asian countries, the country which 1s ahead in every aspect
such as per capita income, Life Expectancy at Birth, Mean Years of Schooling
etc as per HDI report 2018
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India
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‘Renewable Resource’ means
St Ll o B el ae o o FS
I e [ &.\}Zlu oacoil” &@oEd
Options :
the resources that continue to exist despite being consumed
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1.

The respurce that cannot be readily replaced by natural means
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The resource that can be used in multiple ways
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The resource that cannot be used in any way for production
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Identify the INCORRECT statement regarding ‘Latitudes’
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Options :
The word latitude 1s derived from the Latin word ‘Latitudo’ which means
length
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Latitude values range from 0° to 90° North and 90° South
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Every latitude must be designated with direction — ‘N’ for North and S’

for South
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Equator 1s the largest among all the latitudes
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Submarine Canyons which were found in Continental slope were formed by the

process of
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Options :
Erosion of wind

. o 588 S
1.
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These forests grow in dry areas with little rainfall and high temperatures
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Options :
Evergreen Forests
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The possibility of percolation of water into the soil 1= greater when

-
o

-t . = Z = .
& DoliGy08” b JuE°E 308 VHTPE0 BN Gotnobd

55

Options :

the flow of the rain water is checked by vegetation or bunds
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the river water 1z allowed to flow freely without any obstruction
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the surface rock 1s very hard
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the trees in the forests are cut down and allow the water to flow freely
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As per the regulations of the Indus Water Treaty-1960, India can use only 20%
of the total water carried by the Indus River System and this water can be used
for irrigation in these states of India
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Punjab, Harja*ana and anasthan

Punjab, Haryana and Jammu and Kashmar
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This formed the foundation for India’s Democracy

B griE0Y Herarsirls Darh Saob
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Options :

The values set forth by the American Constitution
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The 1deals like liberalism and authoritarianism
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2.
The directive principles of State Poliey adopted from Irish Constitution
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The Values that insPil'ecl and guided the Indian freedom struggle
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In the Indian Constitution. these lay down some specific tasks before the
Government of India such as Universalizing Literacy. protection of Environment
ete.
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Fundamental Rights of the Indian Constitution
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Fundamental Duties of a Citizen
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Directive Principles of a State Policy
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Human Rights
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This independent institution supervises the expenditure of the Government in
India
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NITI Aayog
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Comptroller and Auditory General
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Finance Commission
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In 2009, the Indian Parliament passed the “Right of Children to free and
compulsory Education Act” in order to
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Options :
Ensure that all children below the age of 14 years get quality education
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Ensure that all children living in the rural areas only get quality education
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Ensure that all children below the age of 16 vears get quality education
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Ensure that all Physically Handicapped Children only get quality
education
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If there are any differences between the two houses of the Parliament in passing

an ordinary law, the final decision shall be taken in
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Options :

The Lok Sabha only
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The Rajya Sabha only

The state Legislative Assemblies

Toape TR0 Hefest

The joint session of the Parliament

-

FJ ,-
r,
£A
m
&b
E &
i
2l
i,
(]
%
i

4.9



Question Number : 110 Question Id : 8657993173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following 13 NOT the aim of the 427 Amendment of the Indian

Consatitution

Options :

Excluding the courts from election disputes

Jse e Hob Bheodh MHSFanosto
1. %
Making education as a fundamental Right
50 ErEhE Py dabio
2. ¢
Making the judiciary subservient to Parliament
772,000 rPoend ol oo
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Strengthening of Central Government when compared to the state

Governments
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The central Government has passed the Criminal Legal Amendment Act 1n
2013. This was also known as
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Sharada Act
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The dance that was performed to worship lord Shiva aggressively in front of
Nataraja idol at the Siva Temples to motivate the soldiers before going to wars
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The Constitutional Advisor of the Drafting Committee of the Indian Constitution
who became the first Indian Judge in the International Court of Justice was
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Sir Benegal Narsingh Rao
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Jyotiba Phule founded ‘Satya Shodak Samaj to build a new society based on
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Caste System
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Truth and Equality
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Equity and Social Justice
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The Government of India appointed a Supreme Court judge B.P. Jeevan Reddy
to look into the possibilities of
& womed® 63 odseard
5. 258 BE chpood
Options :

convincing the people of Manipur to remain in India
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revoking the AFSPA Act in north-eastern states
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preventing public disorder due to aleohol abuse
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maintaining law and order in the state
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As per this article of the Human Rights “No one shall be subjected to arbitrary
arrest, detention or exile
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Article 3
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The Lion tailed macaque and many other species of insects and birds are unique
in this place of India
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Options :
Silent Valley in Western Ghats
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Nallamala Forests of Andhra Pradesh
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Pench forests in Madhya Pradesh
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In 1969, Monarchy was abolished in Libya and it had declared itself as
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Options :
A Democratic Libyan Arab Republic
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A Communist Libyan Arab Republic

i e oy O v £ o
=3, PIedrd 2e)dhe wds Bnals
© ™

The Socialist Libyan Arab Republic
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Norman Ernest Borlaug. the father of Green Revolution belongs to this country
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This crop 1s used both as food and fodder
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Options :
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At this stage of Paper Production. the small wood chips are sent to fibre line
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Spreading the pulp
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In this sector of the Indian economy. more number of female employees are

working
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Agricultural Sector
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The overall impact of New Industrial Policy 1991 on the Indian Economy was

1991 588 arBimeind Aurso, grdE 8B HHih & Eero rhobd

Options :
It led to rapid economic growth and liberalisation
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It had no significant impact
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It led to decline in economic growth
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It increased the government control over the economy
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From the following options, identify the primary function of money
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Options :
Medium of exchange only
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Among the following. the amount deposited in this account 1s more convenient

to the business people

Options :
Saving Deposits

] =
Ty E R e
majon Gardén

Current Deposits

P ¥ i | -
800tn &ar2éy

Term Deposits

T = .I'n‘.lc,,;\'._
€230 LooJPE0e0
= i~

Recurring Deposits

w0 - .
8580h GomBeén

il
12



Question Number : 126 Question Id : 8657993189 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Whenever there 1s a price rise. the Reserve Bank of India which 1s an apex body
for all the banks in India will
Hfe HIHde =bARgter, PEEDE oS 3y ool ofrhs ;\’*o;é) oS Basbe

"

e;08 8 s0bdir & Dore Tnod

I?;

A) Reduces the money circulation in the economy

f::'gé ::?:Dc ;é |-?'j.;>_, rJéq.J:mD:l @ﬁFJ_,OEJ

B) Asks the banks to lend less or allow depositors to withdraw less

ePsoBen 858 HePen B0 g & 260 B8 &5505,BoHE R D8

ol

o

O Gond Bshdod

C) Controls the interest payments paid to depositors or received from the

depositors
Br2ed% 300D Brr Aardet Dol 5:5808 $& BDoe Jdbo@dhod

Choose the correct option from the following
208 et 0R Ddsirrraedy DBodob
Options :
A, B and C are correct

A, B %805 C en $559

Only A and B are correct

A 56din B s @sh 508

A. B and C are incorrect

A, B and C 53832 =25

Only B and C are correct

B sx8aim C ol Eu 3%@



Question Number : 127 Question Id : 8657993190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Every year. Human Development Report 1s published by

[gtf:lk'i? Ta ¥y ‘i": 8o, srS% E:?fgﬁr*i if&lgﬁ' [:'.CI?.J_,E"-"} SNila s

o

Options :

United Nations Development Programme

e¥eTre: $HI0E @958 Herds (UNDP)
1. ¢ N

World Bank

International Monetary Fund

f:':G“’:"‘"“ G\{ H: : 'I‘-r(-j (I‘\'[F
3. %

World Health Organization

a0 ?é.cEEh; Fﬂo?é: (WHO)



Question Number : 128 Question Id : 8657993191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following iz the correct duration for the financial year of India?
PUE0E 888 HoBETPNE Komohod) Sob HS” A ¥3X HHe?

Options :

15t Mar to 14t March of the following year

378y 15 snoll &thidb JodeéBo 578y 14 355%

1. ®
1°¢ April to 158 March of the following year
JpE 1 ok #tHab SohEbo 78, 1 H5H

2. %
1% April to 31°t March of the following year
RS 1 Dol 8Hnd SoHEto 8,y 31 Ho%

3. ¢

15 January to 31° December of the following vear

25558 1 5008 BB HoHéGo BRond 31 H5%



Question Number : 129 Question Id : 8657993192 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“We have emerged from this war. the most powerful nation in the world—the

most powerful nation. perhaps. in all history.” Whose words were these?

s = ; i " z - - - = A
& dindo Hed Ho Raodod” Ser wEod 550800 DIl eabdodrdn — 2
. = T T R SRS Tt o Y a1 g e Y :
508 Jndod T 088 85080 OFo 30558 Sth” @ 8l 7%

- —

Options :

Winston Churchil

1. %
Harry Truman
Eﬁagﬁ |§3:"'c.::°5
2.9
Woodrow Wilson
‘l::-i:uff;ﬁ E:IUIEE
3. i ’

F D Roozevelt

F D 85rE 36
4. % -



Question Number : 130 Question Id : 8657993193 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to this Act, “adult male labourers could not be made to work for more
than 12 hours per day.”

A .
: A e 4 wend AT 5 wly all vl e O g - I P T T = £ 3l S
£ Héo Hoebio, "HAEPEeN e 28 5Hed 8D 12 Noted fhod) 5 DonoBErEth.
-4

Options :
Factory Act, 1881

558 Seyo, 1881
1. ®

Factory Act, 1861

S5 Heo, 1861

2. % R
Factory Act. 1921

S50 S&0, 1921

Factory Act, 1911

58 $eo, 1911
4.v



Question Number : 131 Question Id : 8657993194 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1867, Prarthana Samajin Bombay was started by

ok £ — T
1867&° Hoerond® % @lEH Sird D grdoflod
A

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Swamy Dayanand Saraswathi

S N P £ o sl o
t_,.:':';a.l.- HdimRon coliodes

1.
Raja Rammohan Roy
TReP TRa PR TP
2.
R.G.Bandarkar
R.G. mot256
3.

Swamy Vivekananda



Question Number : 132 Question Id : 8657993195 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Enabling Act which was passed on 3™ march, 1933 gave Adolf Hitler all
powers to
1933 578 38 e3rfobalsd addoh 380, Brrd) redh & visrred SHBod
Options :
rule German}' Democratically

'_u’j -.\.,l.'\ |{k_ln_u G.l Eﬁ)"’“(ﬁ@f"’" q"‘@@ﬁlf‘mé

1. %
sideline Parliament and rule by his order
srgahotnd HE5¥E 08l 8bdo FHsdo Jrdostrls
2.
establish proletariat form of Government in Germany
3 % l_v-':j n.,-._,- @-cgj:'éé\ ﬂ}tﬁw@;a& D.-CQJCHIJ\.: l."ug

conduct elections in Germany and rule by its order

cetﬁgf&éﬁ aJeyBen Absarod ol BOI0 3 HErdo ardodnrls
4. %



Question Number : 133 Question Id : 8657993196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, the industry that had started the *Assembly Line Method’
of production to produce more cars quickly
&od 8E°, &S Indos® ST &5 658 FeHEIL & HBED ‘B0l BS HEE’
=L DJC'F_‘?E\ ErSofodiof
Options :
Volkswagen

_E-__ ;F’%

(General Motors

E’J‘ .

5SS dr e8P0

Ford Motors

SR 3
a0 ol L hilay)

3¢ °

sl

M G Motors

M G St
4, %



Question Number : 134 Question Id : 8657993197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
On 8% March, 1907, the women of this city of Russia took out a procession
demanding ‘Peace and Bread
a8y 8, 19073, & Sapy {iid Soirden ‘@rof HBAMN &Y D Fodr &60R0D

s B %
v.'u'ﬁ;{u_-'ﬂ"{:cﬁ_,

Options :
Moscow
aTPel%

£
&

St. Petersberg

M)

- % N —
nonod) et
2. ¥ ‘

-

Novosibirsk

o ohe, e
[ R Y W
(10

Chelyabinzk

4. %



Question Number : 135 Question Id : 8657993198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The invocation part of an inscription is Prashasti, which contains details about

o - Lo e, s o B R } o S
THB0SD Fntie D" s PRI o) 88 @otPih. mdn &0 Mbod) denayiuod

o b —o L

LI':

Options :
The brahmins and their writings

e eanen snBaln &b ke HBod

1. %
The ruling family, their predecessors and the period to which they belong
Irede Hévomren, O%os snothdered Hévogre LBod HBAM F&H
seerald Dohs 78° ol DBod

2.9
The distmbution of land and the method of collection of taxes from the
people
Eﬁ}' 20 33'-:- Evhlale b)) |Du'}-:iu' ol EJM"EM Heimen Eﬁi BTl

3. %

People of that kingdom and their activities

& Tresr (masen $0B0I 778 sy Seraren

2



Question Number : 136 Question Id : 8657993199 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The League of Nations was the first ever International Organization which was

formed as a consequence of this treaty

Dt

5

a N ol - r 1=, I e fix
28 Hhé & oo PdEorr 56X dnédntid wod Lﬁmfﬁ n,':l{u

Options :

The Treaty of Paris

E’J

85 e.aotio
1. %

The Treaty of Vienna

- at 4
Sidham sy olio
(=8 [-%

The Treaty of Versailles

-

ofio

= =
[.2]
Gl__*, 2

3. 7

\_-'\

rd

The Treaty of Frankfort

@°05aP5 esodio
D_:. .



Question Number : 137 Question Id : 8657993200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1971, the Government of India abolished

ﬁ

19716°, erds H2he:0 DB 6th D0od
Options :
Privy purses and titles used by the former princely states

) g X o = \ ey : o SR - S T R
e s, PJO\%:E;E"‘LJ S&HrA0DS Tre: giesren S0BAD £thihen
G

the Zamindari System in all the states of India

TOS0S0d N &y Toare & mibored 83 a‘:wm,

"c\p. %
2. ®
the integration of Princely states into the Indian Union
P08 AHPAADRS® Jorpare D855
3. %

the Ryotwari and Mahalwari revenue collection systems in India

e

TO80F0E” JamyB $HBdin shirergd 5y METes HiHded



Question Number : 138 Question Id : 8657993201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The objective of forming the Hindu Mahasabha in 1915 by Madan Mohan

Malaviya was

J.qlf?é d e c«.,"'"Ea a:I.J F_n:%' é;; 8 0f° g_-"_'Oli:l:'“ E"}dﬂ*?ﬂfﬁh _JBEJOL??;

o
Bl &g f

Options :

1.

uniting Hindus and reconverting those who had converted to other
religions

Srothdo Do Dah¥o LB B8 HEred®s SreS 0D &BA Sroth HEcETS
S:0% ordEo

to propagate Hinduism 1n and outside of India

o & ~

FOSGE0S° HBd erdEtdo Jene drolir Hheed) pardo Bdbo

to counter the Muslim League and the influence of other religions

3

A &

cr

-2
a&@

08O 880 HEre EpErard) JthEh)Hto

to bring unity among the Hindus and fight for liberation of Hindu State

srothie e @80 8h%hTrHto HBEW Srotie Trey; Hans 250 Phorééo



Question Number : 139 Question Id : 8657993202 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true related to Social Studies and Social
Sciences?
rolns 3 FHo sHBain By by ,Ea:'; % Somobo &2 Boh Eﬂ;s;-;h;ér HB5D 292

A) The purpose of Social Sciences 1s to find out new truth about human

relations

508 Honored Kra s Srad dered Sihodh Jraras re ﬁ@%’*&‘hj
B) Social Studies is far larger than the Social Sciences

JPodns FFo Jrsiras %ﬁ*ﬁhéoé e B0 Do Gotnod

C) Both in Social Sciencez and Social Studies. the centre of focus is man's

relationship to man and his environment and how he meet his basic needs

o 8. o o N 8. o S - - o 2 oy ol oy
FotnE TFo, ParEs Triren Sofod Kyh wore SPEHIS B IPIPHIE, 08

5508 Homolio B0 @8 555 widdtred Jer S5 Hotrs B R
&0tnob
Choose the correct answer

il : o B .
RON HETTETE, ol Bolob
Options :

AB&C

A & Bonly
A & BirEd

2.
A& Conly
A& CDJ_.TI $ 3
3.¢
B&: Cﬁlﬂy
B & C sr@sh

4. %



Question Number : 140 Question Id : 8657993203 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Social Scientist worked as Associate editor to the Journal/Magazine:
“Archives for Social Science and Social Welfare™

—=

T P = o SR =, E = i = B o Oyl SRe L - i "/-\.':"_l-:g-
'1:'—_‘-93.}£" o0 Fﬁcﬂ'& o 'é;! HoG QE-:.{":E TG — B8R e =3=5) '?:':'QEPJUZJES D.-'&'E—JE m DaD8s

Options :
Karl Marx

8S 5im5; -

¥
Ol

Christopher Columbus

P56 Booad

Karl Luther

oH6 erdo

Max Weber

. i e

S e

Cu'gﬂ Eals
T

4. v



Question Number : 141 Question Id : 8657993204 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify true statements related to role of the teacher in

constructivist class room

oy

o2 Do S00E st f{:mc'“ 0507 aPEH Homobod) & Sob -Eﬂ;ﬂzé’g 200N a8

=
foBoob
A) Teacher i= transmitter of knowledge

a0 e (5206 (¢ ransmitter ) 33 &8

o

=

Teacher 1s a facilitator and guide for knowledge construction

o2 oS arrointd PodiEdme, Srdiitym HEirsartd

C) Teacher is manager and not controller of the class
EPTeaintd S518 Jorsrht 500 ddhoEn e w°th

Choose the correct answer

1‘6 PAENY AL rau::h u:a,ni..r G"f_a

Options :
AB&C

1. ®
B & Conly

B & C 5r@gah
2.9

A & B only

A & B irgah

A & C Dn]:,'
A& Cirmgad



Question Number : 142 Question Id : 8657993205 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Respect for service institutions’ and ‘study of stories on Ramayana’ lead to

—J

development of these values among students respectively
() ﬂf"'&‘i_.?'é.f,-‘

n
1= o ,_f_\_ - — Low P [T s
o PO TFododé’ HbBdn ‘orsirdis BHeod
G

[4¥0s]
' %3 Bob SenHes

T0sPofoihed B rtnthaon

o ekiys
D:IT_ &P_‘.‘-\_

Options :
Demoecratic value, cultural value
o

o

et 2808 Dend, o) 288 Den

lEU

1. v
Cultural value, democratic value
R0 BE Dend, @eraifhs Dend

2. o
Democratic value, democratic value
,::CJ ":'n g:l_;g ;J‘DJJEIS, [olET” & ;&jé Sens
3. %

Cultural value, cultural value

p-"’ Y ey
245 oJED

g8

(8

lﬁoé%&é&,’é Dend, & PO )

ea) ®odren Hare



Question Number : 143 Question Id : 8657993206 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“Development of the feelings of cooperation and inter-dependence’ and ‘respect
for various cultures’ are the elements of the following respectively
WP i HBan 28067 BofEN erRlNGES N’ NG dody@esn Tldoihé’

R Y S0 e ) MR s
e woIren Sthome B8 Jotharan

Options :
Objectives, objectives
©5Ten, oD

1. %

Aims, aims

i i
— Pl — kL
ﬁg%%ﬁu. SOTeren

o e
2. %
Objectives, aims
e5Pen, 60TeD
3. % :;

Aims, objectives

kL

SOTRen, SPED
i agl

4. )

£



Question Number : 144 Question Id : 8657993207 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right to Education (RTE) Act-2009 an appointed
teacher shall assess the learning ability of each child and accordingly
supplement additional instructions if any required

Sy 575, Hio (RTE)-2009 peedo SEHHEES 2.8 &arrend ©8 Heard o

-

k‘maﬁm;am 805 39, P8 eHihmorT esD8 B0 BBHDY & F55 Eéﬂjé::
Options :
Section-24(1)(a)
255-24(1)(a)

1. %

Section-24(1)(d)

2E5-24(1)(d)
2.

Section-29(2)(a)
.- 2E5-29(2)(a)



Question Number : 145 Question Id : 8657993208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Graphs" and “Phonograph discs” are respectively known as this type of
teaching aids
“IS en” HBoin TS ATy o0 SHHT & S50 ST H5Seren
Options :

Both are Visual aids

Cotire ﬁ{;)é; En80eren

1. %

Both are Audio aids

Jotir |¥8es Gusderen
2. %

Visual aids: Audio aids

58y 6080emen; (Fiies )80men
3.9

Audio aids: Visual aids

Bodes D80eren; HyF; S80eTen



Question Number : 146 Question Id : 8657993209 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These maps represent distribution of various crops

SRRV P N N0 U S v v Sy S - U
& Foradmen 2lell) ot EsTal st PyTavy)
o ;

Options :

Vegetation maps

SRBAE 2 Heren
1. ¢
Physical maps
Fres & Hiren
2. %

Climatic maps

Borebam i :
38 2 o néren

Ethnographical maps

~E ob 2. AR
b & ehdd gir Seren



Question Number : 147 Question Id : 8657993210 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. the most suitable method to teach ‘Barter system-

evolution of money’

o a

|:>_.h.-_.{:u_l_4 5 & &_.Q-""HSO I"'-Jcn Ta e ) l:é?:{j) o

Options :

Story telling

¥

L0 That o
& Qa0

Individualised Instruction

3.¢ B



Question Number : 148 Question Id : 8657993211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Concept mapping was derived from this theory of learning
£ gl %;Cj;o@io STPOOMT P50 53830 ﬁﬁﬁj—:}ﬁ'é&
Options :

Bandura’s Social learning theory

< B, .5 poad ot B g
2oliPTr Jrosn 50N Atroio
] Q

Ausubel’s learning theory

088 ©EH0 drodo
2.¢

Skinner’s operant conditioning theory

Il A = - o -
N0 [Rired doolds nmrofo

[== A o

f

3. %

Thorndike’s learning theory

0y &5 waids drrodo
4, %



Question Number : 149 Question Id : 8657993212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the tools used for assessment of scholastic areas

% Bof B TrE;

A} Unit tests

A T Ll LA,
GOIPeJE) 8lnen

L]

B) Assignments

[ g e - o
o OUP B3P e

-

Rool Sorred hbo) Daheels 2Grhod e HBodod

C) Diagnostic tests

i~

Tt Oy < Ry
S aded TP Den Elei0En
o £

Chooze the correct answer

Options :
A & Conly

. A& Csmgad
1.

B &'.‘ C Dlllj,'
B & C dr@a

A & B only
A & BirEs
3. %

AB&C
4.

.
Wt A gt el
o 0ed -.'\JQJJ'QDEG.J_UMJ ool CI&

O



Question Number : 150 Question Id : 8657993213 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Write in your own words about a festival celebrated by the people in your area’

— This question aimed at achievement of the following academic standard

‘8o @rodod® g(: » 23HPHI 2.8 Dol 1178 & Brod rest bl — e B
éu gGI&I ;:'C_IT"‘ D.-'{:I_I.J E“c-.J_JJ:‘J_, o &CI @ Ja e mbn T i)

Options :
Appreciation and sensitivity

pEon, odyEdo

1.¢
Mapping skills
28 Bajearse
2. %
Reflection on contemporary issues and questioning
$5ETOE woTeP [HAK0SS, Hothe
3. ® B

Reading the text

) 4
Sfardy Stito



